&
LT

S CUINEFCIRVINR NI 1 RPRCEA KV S Py

S g5 5] ol oKl 5 58 ('S‘f i, Slasl

NISOC (‘ms' G @'
toler o)l PIPING ASSEMBLY DRAWING
‘ . . -
053-073-9184 0592 | 6w |ouiS ol | Mg | wd, [Sepy| Jum [ 4 67 ;b1 o)l
BK | ecs | Pebco | 120 Pl DW | 0002 | DOO

oe vyl Gl s el - b

PIPING ASSEMBLY DRAWING

IFC:
IFA: Issued For Approval
AFD: Approved
AFC: Approved
AFP: Approved
AFQ: Approved
IFI:

Issued For

Issued For Comment

For Design

Information

For Construction
For Purchase
For Quotation

AB—R: As—Built for COMPANY Review
AB—A: As—Built — Approved

REV. DATE PURPOSE OF ISSUE/STATUS PREPARED BY: | CHECKED BY: | APPROVED BY: |COMPANY APPROVAL
D00 MAY.2023 IFC M.Noori M.FAKHARIAN A.M.MOHSENI

CLASS: 1 CLIENT Doc. Number: F1L—708892

STATUS: IDC: Inter—Discipline Check




=
LR

S i plae ad s Gl 3l 5 cslagS o3,

&w‘s)}‘[cocliu..’:' )J )lfr.ﬂ,-bo.p) CJ'J?'

NISOC (‘Mﬁ%" @
toler o)l PIPING ASSEMBLY DRAWING
053-073-9184 xS e[Sl ] s | e, [Sups] S | o 67 5 2 emioo )l
BK | o6cs | PEDCO | 120 Pl ow | o002 | Doo
REVISION RECORD SHEET
PAGE NO.| DOO DO1 D02 D03 | PAGE NO.| DOO DO1 D02 D03
1 X 48 X
2 X 49 X
3 X 50 X
4 X 51 X
5 X 52 X
6 X 53 X
7 X 54 X
8 X 55 X
9 X 56 X
10 X 57 X
11 X 58 X
12 X 59 X
13 X 60 X
14 X 61 X
15 X 62 X
16 X 63 X
17 X 64 X
18 X 65 X
19 X 66 X
20 X 67 X
21 X 68
22 X 69
23 X 70
24 X 71
25 X 72
26 X 73
27 X 74
28 X 75
29 X 76
30 X 77
31 X 78
32 X 79
33 X
34 X
35 X
36 X
37 X
38 X
39 X
40 X
41 X
42 X
43 X
44 X
45 X
46 X
47 X




& S CUINEFCIRVINR NI 1 RPRCEA KV S Py é
— - h
SR e

NISOC S 55T gor Bl 55 58 (ST cas, St @%ﬂ E
:OL“:‘.’ °)l“‘:' PIPING ASSEMBLY DRAWING
053-073-9184 032 |65 e ousS o] s | w, [Smps| Som [ e 67 51 3 emio )l
BK GCS PEDCO 120 Pl DW 0002 D00
TABLE OF CONTENTS

ToINTRODUCTION .ocoooooovcoeeeeeeens et 4
D=GENERAL DEFINITION o.voos oo ssosooesoces st 4
B=RELATED DOCUMENTS  ...cooovvoveveeeees oo 4
BoPRESSURE GAUGE ..e.ocveesvsooooeoiieeieess oo 5
5—PRESSURE GAUGE VESSEL MOUNTED  ....vvvovvvvveeeerecrssessssssoesooessesssesene oo 8
6—PRESSURE DIFFERENTIAL GAUGE VESSEL MOUNTED ...ccooouooeooocooiceeceesesensneess s esooesiessssssessne e 11
7=PRESSURE SWITCH (LIQUID/LINE) .vvvvvvvs oo ssssossoocesiess s 13
B=PRESSURE SWITCH (GAS/LINE) ...vvvocovovvecesseeess oo e 14
9—PRESSURE TRANSMITTER (GAS SERVICE) rooseeseeiretiieiccieeseesne s 17
10~PRESSURE TRANSMITTER (LIQUID/LINE) +....occevcevevvers oo sssesoseoies e e 20
11 —DIFFERENTIAL PRESSURE TRANSMITTER (GAS/LINE) rvvvvrvvvrrerroeseceesoocoiossessns oo 21
12—DIFFERENTIAL PRESSURE TRANSMITTER GAS/VESSEL MOUNTED .....ceoeoooooroomicriceesennnenness oo 23
13=DP CELL FLOW TRANSMITTER (GAS/LINE) ..oooovioooveveereeseeeeeisessse s essooocsosssessss oo 24
14—LEVEL GAUGE—SIDE=SIDE (DIRECT CONNECTION) .vvrsvossstssesseesoresosiescoesesenesnes et 28
15—LEVEL GAUGE—SIDE—SIDE (INDIRECT CONNECTION/STANDPIPE) ....cevvvvorrorrressosssosoiciecsecnnssnens e 29
16—DISPLACER LEVEL TRANSMITTER (INDIRECT CONNECTION/STANDPIPE) ..oocovvovooorocceeveeeernnenesseesssssssssss e 35
17—DIFFERENTIAL PRESSURE LEVEL TRANSMITTER (VESSEL MOUNTED) ....ccovvvererrrrerrssrssssossnsssnicescnnsinnnsnness s 41
18—DISPLACER LEVEL TRANSMITTER (DIRECT CONNECTION) ..ooocoooceecevevveneenesscoesessseesesssicsonescsnns e 42
19—DISPLACER LEVEL SWITCH—SIDE=SIDE (DIRECT CONNECTION) ..vrrsoirsessoessesssercrmeceecsnnennneners s 43
20=TEMPERATURE GAUGE (PIPE) ..v..vcovcvveverseseeesees oo
21-TEMPERATURE GAUGE (VESSEL)

22 —TEMPERATURE TRANSMITTER .11+t eseeasess et
23=TEMPERATURE SWITCH  vvvvvvts vttt sssesssssmmssmses st
24-PROCESS VENT & PROCESS DRAN FOR 11/2" AND SMALLER LINES ...ooovovrvvmoemrrierisesosssessciceninennnnnesees 54
25-PROCESS VENT & PROCESS DRAN FOR 27 AND LARGER LINES ....ooooovevvevoreeenssossiessoessossesscicnsennnnnnneenes 57
26—HYDROSTATIC VENT & HYDROSTATIC DRAIN FOR 11/2" AND SMALLER LINES ..oooomimmiccecerrenensnnnrrnsrseseenn 60
27-HYDROSTATIC VENT & HYDROSTATIC DRAIN FOR 27 AND LARGER LINES ..oooooiioiiiiiiiicveerernenensnnnrssssse e 63
28-CORROSION COUPON & CORROSION PROBE/TRANSMITTER (INSTALLATION IN 120 CLOCK) .-ioeeeverrorrrerriceneee 66
29-CORROSION COUPON & CORROSION PROBE/TRANSMITTER (INSTALLATION IN 6'0 CLOCK) ..eioeeuerrorrrerrocereee 67

NOTE: DRAWING TITLE :

TABLE OF CONTENTS

SHEET | 1 OF 1




& K COPRNE TR RV PR ) IPRCHCY R CPy é
_ . h
S e

NISOC Sz sl oz ol 55 S8 W ST5 e, Sl @gﬁ;} E
tolen 05l PIPING ASSEMBLY DRAWING
053-073-9184 0592 | 6w |ouiS ol | Mg | wd, [Sepy| Jum [ 4 67 514 ool

BK GCS | PEDCO 120 Pl Dw 0002 D00

1. INTRODUCTION

Binak oilfield in Bushehr province is a part of the southern oilfields of Iran, is located 20 km northwest of
Genaveh city.

With the aim of increasing production of oil from Binak oilfield, an EPC/EPD Project has been defined by
NIOC/NISOC and awarded to Petro Iran Development Company (PEDCO). Also PEDCO (as General Contractor)
has assigned the EPC—packages of the Project to "Hirgan Energy — Design and Inspection” JV.

As a part of the Project, a New Gas Compressor Station (adjacent to existing Binak GCS) shall be

constructed to gather of 15 MMSCFD (approx.) associated gases and compress & transfer them to
Siahmakan GIS.

2. GENERAL DEFINITION

The following terms shall be used in this document.

CLIENT: National Iranian South Oilfields Company (NISOC)

PROJECT: Binak Oilfield Development — Surface Fcilities; New Gas Compressor Station
EPD/EPC CONTRACTOR (GC):  Petro Iran Development Company (PEDCO)

EPC CONTRACTOR: Joint Venture of : Hirgan Energy — Design & Inspection (D&l) Companies
VENDOR: The firm or person who will fabricate the equipment or material.
EXECUTOR: Executor is the party which carries out all or part of construction and/or

commissioning for the project.

THIRD PARTY INSPECTOR (TPI): The firm appointed by EPC/EPD CONTRACTOR and approved by COMPANY
(in writing) for the inspection of goods.

SHALL: Is used where a provision is mandatory.
SHOULD: Is used where a provision is advisory only.
WILL: Is normally used in connection with the action by COMPANY rather than by an

EPC/EPD CONTRACTOR, supplier or VENDOR.

MAY: Is used where a provision is completely discretionary.

3. RELATED DOCUMENTS

BK—GCS—PEDCO—120—-IN-DG—0002 INSTRUMENT HOOK—UP DIAGRAM
BK—GNRAL-PEDCO-000—PI-DC—-0001 PIPING DESIGN CRITERIA
BK—GCS—PEDCO—120—-PI-SP—-0001 PIPING MATERIAL SPECIFICATION

BK—GCS—PEDCO—120—-PR-PI-0002~0025 PIPING AND INSTRUMENTATION DIAGRAM

NOTE: DRAWING TITLE :

RELATED DOCUMENTS

SHEET 1 OF 1




& X CUUINE PR KVOSIW PR - EPRCHCY K IS g é
[—1 5 h
KU e
NISOC &ﬁ&)ﬂcqolﬁ:....:l 5D )'lfpﬂ‘;;q.:;)ol.ul @@gg} E
toler o)l PIPING ASSEMBLY DRAWING
053-073-9184 25an |6 G faaiSlo| Mg | @2, Syl py| Jom | 67 51 5 ool
BK | ecs | Pebco | 120 Pl DW | 0002 | DOO
= =
[%)] %]
z z
0 o
z z
o o
L
< ] ®
m
N V4 (J> / ®
® ( )
4¥ ) T
L@
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. GATE VALVE, SW 1" 2 EREE @g
2. SOCKOLET 1" 1
3. EQUAL TEE, SW 1" 1 (TYPEA)
4. CAP, THRD 1" 1 (TYPEA)
3 (TYPE A)
5. 1 (TYPE B)
6. 1 (TYPEA)
7. SWAGE NIPPLE, PLE/TSE 1"x1/2" 1
SPECS:  ANOL/ ANO4/ANOS5/ANO7 / CNO5/ CNO7 / CS000 RATING: 150# / 300#
NOTE: DRAWING TITLE :

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—0001).

PRESSURE GAUGE

SHEET

1 0F 3




£
LR

S CNETICIRVOIRR ISRV | RPRCEA KV SRS PR

&w&)ﬁ.[c“’bli‘“’:' )D )lfp.ﬂ,-bo.:b_) CJ'J."

NISOC (‘m,%"
toler o)l PIPING ASSEMBLY DRAWING
053-073-9184 25an |6 G faaiSlo| Mg | @2, Syl py| Jom | 67 51 6 ool
BK | ecs | Pebco | 120 Pl DW | 0002 | DOO
=
wn
Zz
O =
4 2]
o
0
1 =
o
< | ® a
© N\ -—®
( )
@_> ) {
( ) L_|<—( : )
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. GATE VALVE, THRD 1" 2 EREE Qg
2. EQUAL TEE, THRD 1" 1 (TYPEA)
3. CAP, THRD 1" 1 (TYPEA)
4, 100 mm, PIPE, TBE 1" 1 EREE @g
5. SWAGE NIPPLE, THRD 1"x1/2" 1
SPECS : AZ01 RATING: 150#
NOTE: DRAWING TITLE :

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—0001).

PRESSURE GAUGE

SHEET

2 OF 3




£
LR

S CNETICIRVOIRR ISRV | RPRCEA KV SRS PR

PEDCO
NISOC &ﬁ&)ﬂcqolﬁ:....:l 5D )'lfpﬂ‘;;q.".;)ol.ul @@gg} E
ol 0,5l PIPING ASSEMBLY DRAWING
-1 e .
053-073-9184 039 |6 oS plo| s | w3, [Speps| S | e 67 517 emde o)l
BK 6cs | Pepbco | 120 PI pw | oooz | Dpoo
= =
0 0
z z
(O] (O]
— P Z
~ o o
o o
8: ®
( <L : )
) (
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1 GATE VALVE, SW 1" 5 EREE @g
2. SOCKOLET 1" 1
3. EQUAL TEE, SW 1" 1 (TYPEA)
4. CAP, THRD 1" 1 (TYPEA)
5, 100 mm, PIPE, PBE 1" 3 EHEE ‘B\g
6. 100 mm, PIPE, POE/TOE 1" 1 (TYPE A)
7. SWAGE NIPPLE, PLE/TSE 1%1/2" 1
SPECS : FNO5 / FNO7 RATING: 600#
NOTE: DRAWING TITLE :

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—0001).

PRESSURE GAUGE

SHEET

3 OF 3




£
LR

S CNETICIRVOIRR ISRV | RPRCEA KV SRS PR

NISOC S 6551 por oKl 55 8 (ST as, Slast @@w E
toler o)l PIPING ASSEMBLY DRAWING
I + die
053-073-9184 van |68 a8l | Mg | 2, S pp| Jom | o 67 51 B ramioo)l
BK | ccs |Pepco | 120 | I DW | 0002 | DOO
= =
2 2
VESSEL NOZZLE ] T
o 2
T : :
o o
]
| (L}J) | L
- |
7 D3 ®
LIJ m
S L-—aee
— _ VESSEL NOZZLE
@ X |
[ TN
TYPE (A) - \L_ ¥
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. GASKET, 300# 2" 1
2. BOLTS AND NUTS 5/8"x90L 8
3. BLIND FLANGE, 300# 2" 1 TO BE DRILLED FOR 1" THRD MALE CONNECTION
4, GATE VALVE, SW 1" 2 EREE Qg
5. EQUAL TEE, SW 1" 1 (TYPEA)
6. CAP, THRD 1" 1 (TYPEA)
7. 100 mm, PIPE, PBE 1" 2 (TYPEA)
8. 100 mm, PIPE, POE/TOE 1" 2 EREE @g
9. SWAGE NIPPLE, PLE/TSE 1"x1/2" 1
SPECS: ANO1 / ANO4 / ANO5 / ANO7 / CNO5 / CNO7 / CS000 RATING: 300#
NOTE: DRAWING TITLE :

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—0001).

PRESSURE GAUGE
VESSEL MOUNTED

SHEET

1 0F 3




£
LR

X CUUINE PR KVOSIW PR - EPRCHCY K IS g é
h

NISOC S 55T gor Bl 5 S8 (ST s, S last (‘Mw E
toler o)l PIPING ASSEMBLY DRAWING
R S « S sl ] - . . < R L . 67 J'| 9 :odwo)l«-:-
053-073-9184 058 |80 e o> &) W LB e b5 Qb A
BK | ecs | Pebco | 120 Pl DW | 0002 | DOO

VESSEL NOZZLE

- N
|

INST.

O]
Zz
| o
— o
| L | L
(0p)] — |
| N F 4 @
LIJ m
- 3
@ Z
L6
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. GASKET, 600# 2" 1
2. BOLTS AND NUTS 5/8"x110L 8
3. REDUCE FLANGE, SW, 600# 2"x1" 1
4, GATE VALVE, SW 1" 3 EREE Qg
5. EQUAL TEE, SW 1" 1 (TYPEA)
6. CAP, THRD 1" 1 (TYPEA)
7. 100 mm, PIPE, PBE 1" 3 EREE Qg
8. 100 mm, PIPE, POE/TOE 1" 1 (TYPEA)
9. SWAGE NIPPLE, PLE/TSE 1"x1/2" 1
SPECS : FNO5 / FNO7 RATING: 600#
NOTE: DRAWING TITLE :

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—0001).

PRESSURE GAUGE
VESSEL MOUNTED

SHEET | 2 OF 3




£
LR

S CNETICIRVOIRR ISRV | RPRCEA KV SRS PR

&Uis)ﬁ.[c“’bli"":" )D )lfp.ﬂ,-bo.:b_) CJ'J."

NISOC @™ E
ol 0,5l PIPING ASSEMBLY DRAWING
053-073-9184 25an |6 G faaiSlo| Mg | @2, Syl py| Jom | 67 5110 o o)l
BK | o6cs | PEpco | 120 Pl ow | oooz | Doo

=

%]

Z

o

z

o

[a

b ©e0
VESSEL NOZZLE
T _ -
[ N
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS

1. GASKET, 600# 2" 1
2. BOLTS AND NUTS 5/8"x110L 8
3. REDUCE FLANGE, SW, 600# 2"x1" 1
4, GATE VALVE, SW 1" 5 EREE Qg
5. EQUAL TEE, SW 1" 1 (TYPEA)
6. CAP, THRD 1" 1 (TYPEA)
7. 100 mm, PIPE, PBE 1" 3 EREE Qg
8. 100 mm, PIPE, POE/TOE 1" 1 (TYPEA)
9. SWAGE NIPPLE, PLE/TSE 1"x1/2" 1
SPECS: FNO5 / FNO7 RATING: 600#

NOTE:

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—0001).

DRAWING TITLE :

PRESSURE GAUGE
VESSEL MOUNTED

SHEET

3 OF 3




& K SO KWW PR RPRCHRY R G S e é
[—1 5 h
KU e
NISOC i(.:._._._.‘s)_ﬂcqoli';...:l ) )'lfpﬂ‘;;q.:;)ol.ul @@gﬁ(} ‘E
ol 0,5l PIPING ASSEMBLY DRAWING
053-073-9184 0592 | 6w |ouiS ol | Mg | wd, [Sepy| Jum [ 4 67 5111 rasio o)l
BK | ecs | Pebco | 120 Pl DW | 0002 | DOO
=
[%)]
Z
o N o
o
z
o
®—£) ; —=®
@ ﬁ VESSEL NOZZLES T 860
[ - A
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. GASKET, 300# 2" 2
2. BOLTS AND NUTS 5/8"x90L 16
3. BLIND FLANGE, 300# 2" 2 TO BE DRILLED FOR 1" THRD MALE CONNECTION
4. GATE VALVE, SW 1" 2
5. 100 mm, PIPE, POE/TOE 1" 2
6. SWAGE NIPPLE, PLE/TSE 1"x1/2" 2
7. FULL COUPLING, THRD 1/2" 2
SPECS: ANO4 / ANOS / ANO7 / CNO5 / CNO7 / CS000 RATING: 300#
NOTE: DRAWING TITLE :

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—0001).

PRESSURE DIFFERENTIAL GAUGE

VESSEL MOUNTED

SHEET

1 OF

2




£
LR

S CNETICIRVOIRR ISRV | RPRCEA KV SRS PR

&Uis)ﬁ.[c“’bli"":" )D )lfp.ﬂ,-bo.:b_) CJ'J."

NISOC (‘m,%" E
toler o)l PIPING ASSEMBLY DRAWING
| L )
053-073-9184 0)sp ,5)\54:...._. n..\;:SJJ\.c & Mg s 5).&' I b FEW) 67 51 12 e o)l“d
BK | ecs | Pebco | 120 Pl DW | 0002 | DOO
3|
[%)]
Z
o /] N
o
z
o
®—4\ ) A—6®

VESSEL NOZZLES

L

VESSE

| |

L

MATERIAL LIST

SR.NO. ITEM SIZE QUANTITY REMARKS
1. GASKET, 600# 2" 2
2. BOLTS AND NUTS 5/8"x110L 16
3. REDUCE FLANGE, SW, 600# 2"x1" 2
4. GATE VALVE, SW 1" 4
5. 100 mm, PIPE, PBE 1" 4
6. SWAGE NIPPLE, PLE/TSE 1"x1/2" 2
7. FULL COUPLING, THRD 172" 2
SPECS: FNO5 / FNO7 RATING: 600#
NOTE: DRAWING TITLE :

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—0001).

PRESSURE DIFFERENTIAL GAUGE
VESSEL MOUNTED

SHEET | 2 OF 2




£
LR

X CUUINE PR KVOSIW PR - EPRCHCY K IS g

NISOC &ﬁ&)ﬂcqolﬁ:....:l 5D )'lfpﬂ‘;;q.".;)ol.ul @@gg} E
ol 0,5l PIPING ASSEMBLY DRAWING
| dodo
053-073-9184 0592 | 6w |ouiS ol | Mg | wd, [Sepy| Jum [ 4 67 51 13 o)l
BK 6cs | Pepbco | 120 PI pw | oooz | Dpoo
w
o
o
—
=
pd PIPING INST.
@)
N
a4
O
I
'\\ / \
™ \~ MAXIMUM ALLOWABLE ANGEL CONNECTION
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. GATE VALVE, SW 1" 1
2. SOCKOLET 1" 1
3. 100 mm, PIPE, PBE 1" 1
4. SWAGE NIPPLE, PLE/TSE 1"x1/2" 1
5. FULL COUPLING, THRD 1/2" 1
SPECS : ANO5 / ANO7 RATING: 150#
NOTE: DRAWING TITLE :

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—0001).

PRESSURE SWITCH
(LIQUID/LINE)

SHEET | 1 OF 1 |




£
LR

X CUUINE PR KVOSIW PR - EPRCHCY K IS g é
h

NISOC &ﬁ&)ﬂcqoli;..:l ) )'lfpﬂ‘;;q.:;)ol.ul @@gg} E
toler o)l PIPING ASSEMBLY DRAWING
053-073-9184 o3sn |6 dim oS olo | Mg | @2y S ps| S | e 67 5114 ranio o)l
BK 6cs | Pepbco | 120 PI pw | oooz | Dpoo
0
Z
O
=z
o
o E%
% HORIZONTAL PIPE %
/7 N\
I |
-\ /
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS

1. GATE VALVE, SW 1" 1

2. SOCKOLET 1" 1

3. 100 mm, PIPE, PBE 1" 1

4. SWAGE NIPPLE, PLE/TSE 1"x1/2" 1

5. FULL COUPLING, THRD 1/2" 1

SPECS: ANO1/ANO4/ANO5/ANO7 / CNO5 / CNO7 / CS000 RATING: 150# / 300#

NOTE:

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—0001).

DRAWING TITLE :

PRESSURE SWITCH
(GAS/LINE)

SHEET |1 OF 3 |




£
LR

NISOC

X CUUINE PR KVOSIW PR - EPRCHCY K IS g é

Sz 551 o oKl o 8 (ST s, St C‘mw E

:o\ou OJlo-:'

PIPING ASSEMBLY DRAWING

053-073-9184

0582

65w | oasS 5lo

&) W

€y |Seps| Jom e )

BK

GCS | PEDCO

120

Pl Dw

0002 D00

PIPING | INST.

MATERIAL LIST

SR.NO. ITEM SIZE QUANTITY REMARKS
1. GATE VALVE, THRD 1" 1
2. 100 mm, PIPE, TBE 1" 1
3. SWAGE NIPPLE, TBE 1"x1/2" 1
4. FULL COUPLING, THRD 1/2" 1
SPECS . AZ01 RATING: 150#
NOTE: DRAWING TITLE :

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—0001).

PRESSURE SWITCH
(GAS/LINE)

SHEET | 2 OF 3 |




£
LR

X CUUINE PR KVOSIW PR - EPRCHCY K IS g é
h

NISOC &ﬁ&)ﬂcqoli;..:l ) )'lfpﬂ‘;;q.:;)ol.ul @@gg} E
ol 0,5l PIPING ASSEMBLY DRAWING
053-073-9184 0592 | 6w |ouiS ol | Mg | wd, [Sepy| Jum [ 4 67 5116 ramioo)led
BK 6cs | Pepbco | 120 PI pw | oooz | Dpoo
g —k@)
0
Z
: A
=z
o
o }%
% HORIZONTAL PIPE %
/7 N\
I |
-\ /
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. GATE VALVE, SW 1" 2
2. SOCKOLET 1" 1
3. 100 mm, PIPE, PBE 1" 2
4. SWAGE NIPPLE, PLE/TSE 1"x1/2" 1
5. FULL COUPLING, THRD 1/2" 1
SPECS: FNO5 / FNO7 RATING: 600#

NOTE:

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—0001).

DRAWING TITLE :

PRESSURE SWITCH
(GAS/LINE)

SHEET | 3 OF 3 |




£
LR

X CUUINE PR KVOSIW PR - EPRCHCY K IS g é
h

NISOC &ﬁ&)ﬂcqolﬁ:....:l 5D )'lfpﬂ‘;;q.:;)ol.ul @@gg} E
toler o)l PIPING ASSEMBLY DRAWING
| + dociuo :
053-073-9184 0592 | 6w |ouiS ol | Mg | wd, [Sepy| Jum [ 4 67 5017 o)l
BK 6cs | PEDCO | 120 Pl pw | ooo2 | Doo
0
z
O
z
o
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. GATE VALVE, SW 1" 1
2. SOCKOLET 1" 1
3. 100 mm, PIPE, PBE 1" 1
4. SWAGE NIPPLE, PLE/TSE 1"x1/2" 1
5. FULL COUPLING, THRD 1/2" 1
SPECS : ANO4 / ANO5 / ANO7 / CNO5 / CNO7 / CS000 RATING: 150# / 3004

NOTE:

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—0001).

DRAWING TITLE :

PRESSURE TRANSMITTER
(GAS SERVICE)

SHEET |1 OF 3 |




£
LR

X CUUINE PR KVOSIW PR - EPRCHCY K IS g é

NISOC St 3T gor ol 53 S8 515 ks, Sl @ E
toler o)l PIPING ASSEMBLY DRAWING
053-073-9184 ap oo e ol odes [ @, [ ps] Jom | oo 67 5118 ramiv ol
BK | o6cs | PEDCO | 120 Pl ow | o002 | Doo
=
wn
Zz
O—k@
Z
o
o
N—=0
% HORIZONTAL PIPE %
/7 N\
I |
\- - /
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. GATE VALVE, THRD 1" 1
2. 100 mm, PIPE, TBE 1" 1
3. SWAGE NIPPLE, TBE 1"x1/2" 1
4. FULL COUPLING, THRD 1/2" 1
SPECS : AZ01 RATING: 150#
NOTE: DRAWING TITLE :

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—0001).

PRESSURE TRANSMITTER
(GAS SERVICE)

SHEET | 2 OF 3 |




&%&. ol

X CUUINE PR KVOSIW PR - EPRCHCY K IS g é
h

NISOC &ﬁ&)ﬂcqoli;..:l ) )'lfpﬂ‘;;q.:;)ol.ul @@gg} E
ol 0,5l PIPING ASSEMBLY DRAWING
053-073-9184 0592 | 6w |ouiS ol | Mg | wd, [Sepy| Jum [ 4 67 51 19 ramioo)led
BK 6cs | Pepbco | 120 PI pw | oooz | Dpoo
. —k@)
0
z
: Mo
=z
o
E %@
% HORIZONTAL PIPE %
14 N\
I |
-\ /
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. GATE VALVE, SW 1" 2
2. SOCKOLET 1" 1
3. 100 mm, PIPE, PBE 1" 2
4. SWAGE NIPPLE, PLE/TSE 1"x1/2" 1
5. FULL COUPLING, THRD 1/2" 1
SPECS: FNO5 / FNO7 RATING: 600#

NOTE:

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—0001).

DRAWING TITLE :

PRESSURE TRANSMITTER
(GAS SERVICE)

SHEET | 3 OF 3 |




£
LR

S CNETICIRVOIRR ISRV | RPRCEA KV SRS PR

&w&)ﬁ.[c“’bli‘“’:' )D )lfp.ﬂ,-bo.:b_) CJ'J."

NISOC (‘m,%" E
toler o)l PIPING ASSEMBLY DRAWING
- Ao
053-073-9184 0592 | 6w |ouiS ol | Mg | wd, [Sepy| Jum [ 4 67 51 20 o)l
BK | ecs | Pebco | 120 Pl ow | 0002 | DoO
L
o
a
—
=
e PIPING INST.
@)
N
@
O
T
@f iik *
'\\ / \
™ \~ MAXIMUM ALLOWABLE ANGEL CONNECTION
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. GATE VALVE, SW 1" 1
2. SOCKOLET 1" 1
3. 100 mm, PIPE, PBE 1" 1
4. SWAGE NIPPLE, PLE/TSE 1"x1/2" 1
5. FULL COUPLING, THRD 1/2" 1
SPECS : ANO4 RATING: 150#
NOTE: DRAWING TITLE :

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—0001).

PRESSURE TRANSMITTER

(LIQUID/LINE)

SHEET | 1 OF 1 |




£
LR

X CUUINE PR KVOSIW PR - EPRCHCY K IS g

&w&)ﬁ.[c“’bli‘“’:' )D )lfp.ﬂ,-bo.:b_) CJ'J."

NISOC (‘m,%" E
toler o)l PIPING ASSEMBLY DRAWING
053-073-9184 039 |6 oS plo| s | w3, [Speps| S | e 67 521 ranko o)l
BK | o6cs | PEDCO | 120 Pl ow | o002 | Doo
/‘_ ~
@ ]I PIPING INST.
| |
| w |
| & |
| & |
TYPE (A) | O I a
| E N~ — -
T |
| > |
| |
| |
| |
2 _ )
PIPING INST.
TYPE (B) j>£i¢ 0

HORIZONTAL PIPE

pS MAXIMUM ALLOWABLE

ANGEL CONNECTION

MATERIAL LIST

SR.NO. ITEM SIZE QUANTITY REMARKS
1. GATE VALVE, SW 1" 1
2. SOCKOLET 1" 1
3. 100 mm, PIPE, PBE 1" 1
4. SWAGE NIPPLE, PLE/TSE 1"x1/2" 1
5. FULL COUPLING, THRD 1/2" 1
SPECS : ANO4 / ANO5 / ANO7 RATING: 150#
NOTE: DRAWING TITLE :

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—0001).

DIFFERENTIAL PRESSURE TRANSMITTER

(GAS/LINE)

SHEET |1 OF 2 |




£
LR

S CNETICIRVOIRR ISRV | RPRCEA KV SRS PR

&w&)ﬁ.[c“’bli‘“’:' )D )lfp.ﬂ,-bo.:b_) CJ'J."

NISOC @5 E
toley 0 les PIPING ASSEMBLY DRAWING
053-073-9184 0592 | 6w |ouiS ol | Mg | wd, [Sepy| Jum [ 4 67 522 samio o)l
Bk | ecs [peoco | 120 | P | ow | oooz | Doo
@ ]I PIPING _| _ INST.
| |
I w |
| @ | @
| 5 |
| |
TYPE (A) 1 & | <
Bl N =
B
>
| | e
| |
| |
)
PIPING INST.
TYPE (B) ?&?Qlyr

HORIZONTAL PIPE |

MAXIMUM ALLOWABLE

ANGEL CONNECTION

MATERIAL LIST

SR.NO. ITEM SIZE QUANTITY REMARKS
1. GATE VALVE, SW 1" 2
2. SOCKOLET 1" 1
3. 100 mm, PIPE, PBE 1" 2
4. SWAGE NIPPLE, PLE/TSE 1"x1/2" 1
5. FULL COUPLING, THRD 1/2" 1
SPECS : FNO5 / FNO7 RATING: 600#
NOTE: DRAWING TITLE :

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—0001).

DIFFERENTIAL PRESSURE TRANSMITTER

(GAS/LINE)

SHEET | 2 OF 2 |




£
LR

X CUUINE PR KVOSIW PR - EPRCHCY K IS g é
h

NISOC &ﬁ&)ﬂcqolﬁ:....:l 5D )'lfpﬂ‘;;q.".;)ol.ul @@gg} E
toler o)l PIPING ASSEMBLY DRAWING
-1 e .
053-073-9184 0592 | 6w |ouiS ol | Mg | wd, [Sepy| Jum [ 4 67 51 =23 o)l
BK | ecs | Pebco | 120 Pl DW | 0002 | DOO
PIPING INST.
VESSEL NOZZLE
| ':[I N~ .
1 ! ]
g
| ® ©® ®
I
| = a —
| L
- >
VESSEL NOZZLE
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. GASKET, 300# 2" 2
2. BOLTS AND NUTS 5/8"x90L 16
3. BLIND FLANGE, 300# 2" 2 TO BE DRILLED FOR 1" THRD MALE CONNECTION
4. GATE VALVE, SW 1" 2
5. 100 mm, PIPE, POE/TOE 1" 2
6. SWAGE NIPPLE, PLE/TSE 1"x1/2" 2
7. FULL COUPLING, THRD 1/2" 2
SPECS : ANO4 RATING: 300#

NOTE:

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—0001).

DRAWING TITLE :

SHEET 1 OF 1




& S CURET IR RWAKN IRV § L RPRCEI KV CF S Y é
SR e
NISOC S 6551 oz oKl 53 58 (S5 s, Sl @@w E
1ol 0, PIPING ASSEMBLY DRAWING
053-073-9184 50y [el enfou b odes [ @, [ ps] Jom [ o 67 5l 2t ramio sl
Bk | ecs [peoco | 120 | P | ow | oooz | Doo
A A HORIZONTAL PIPE MAXIMUM ALLOWABLE
e ) | ANGEL CONNECTION
| | |
| | ~~ B \ B
=N | 00 m 00
| |
(1 FT 0 =
Al I — o, ] 1=
= B = Vi
E‘ - — \, —
| o e
| z .2 E|Z
< E(Z 0 vz 0)
| Ol nlz Z| = zlz Z|=
I | =l Zla Tl i bl alwm
| b —— a|Z a|Z
Z e WY
@ I |
| |
] L A | | ] L A
< - - L — L ani | | - - L L
| I AT
<: T - [~ ' m | | T r [~ '
3 - | I 3 -
: o’ 11 o
| Z 2’9 =19
nla (2 | | 0|2 2}
Zla O m\_ _d = %
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. GATE VALVE, SW 1" 2
2. 100 mm, PIPE, TOE/POE 1" 2
3. SWAGE NIPPLE, PLE/TSE 1"x1/2" 2
4. FULL COUPLING, THRD 1/2" 2
SPECS:: ANO4 / ANO5 / ANO7 RATING: 150#
NOTE: DRAWING TITLE :

1.

FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—0001).

SHEET

1 OF 4




& S i plae ad s Gl 3l 5 cslagS o3, é
SR e
NISOC St 3T gor ol 53 S8 515 ks, Sl @ E
ol o)led PIPING ASSEMBLY DRAWING
053-073-9184 50y [el enfou b odes [ @, [ ps] Jom [ o 67 51 25 ramios s
BK | 6CS | PEDCO | 120 | PI pw | 000z | DoO
A A
ZZ.am
: 5 : HORIZONTAL PIPE MAXIMUM ALLOWABLE
| o | ANGEL CONNECTION
| .“:" B | B
o | ~ |
= [ D:| 09 Mm 00
< W '
| |
Bl 1 AT >0 H >—o" ]
Al |l | ol j
>l | | > @
| | = \/
l l 10} — %\ —
I . | Z
I | & % o 2 % O
o LEE 2| e el 2l
| ! [ alum aln
W ) alZ alZ
. g
— | H | ——
® ® Y ®
| |
O \ | | C \
| |
< >—-o_0 M | >
| ) A
< [~ — M | L [~ —
L | | L
|2 ' -9
91z © ® N ®
| —— o
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. GATE VALVE, THRD 1" 2
2. 100 mm, PIPE, TBE 1" 2
3. SWAGE NIPPLE, TBE 1"x1/2" 2
4. FULL COUPLING, THRD 1/2" 2
SPECS: AZ01 RATING: 150#
NOTE: DRAWING TITLE :

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—0001).

DP CELL FLOW TRANSMITTER

(GAS/LINE)

SHEET | 2 OF 4 |




& K SO KWW PR RPRCHRY R G S e é
KU e
NISOC &ﬁ&)ﬂcqoli;..:l 5 )'lfpﬂ‘;;q.:;)ol.ul @@gg} E
toler o)l PIPING ASSEMBLY DRAWING
053-073-9184 e |6 G [ousS b s [ a2, [Smps] Jopm | o 67 51 26 iamioo)led
BK | ccs |Pepco | 120 | I DW | 0002 | DOO
A A
Z,4em PIPING | INST.
| Q|
| o
| z:'l 99
| Ol
| = 00
1 o,
T T
TYPE (A) || FT 7| >
f f
| |
| |
| |
| | |
| : I |
% § PIPING INST.
-7 zZiZ
& @
A=A ) X5 X2
. = - -
|2
0l
2 ® (4)
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. GATE VALVE, SW 1" 4
2. 100 mm, PIPE, PBE 1" 2
3. 100 mm, PIPE, TOE/POE 1" 2
4. SWAGE NIPPLE, PLE/TSE 1"x1/2" 2
5. FULL COUPLING, THRD 1/2" 2
SPECS: FNO5 / FNO7 RATING: 600#
NOTE: DRAWING TITLE :

1.

FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—0001).

DP CELL FLOW TRANSMITTER
(GAS/LINE)

SHEET | 3 OF 4 |




& X CUUINE PR KVOSIW PR - EPRCHCY K IS g é
[—1 5 h
SR e
NISOC &V_H‘S)_,choli;..:l I )'lf(,fi‘;;q.".;_)ol.ul @@gﬁ(}
toler o)l PIPING ASSEMBLY DRAWING
053-073-9184 50y [el enfou b odes [ @, [ ps] Jom [ o 67 5127 iamio sl
BK | o6cs | PEDCO | 120 Pl ow | o002 | Doo
HORIZONTAL PIPE MAXIMUM ALLOWABLE PIPING INST.
! ANGEL CONNECTION
B | B
TYPE (B) QQ §¢ S
PIPING PIPING INST.
ZA
| |
| | @
| |
| | i N i
T
B-B ORT
| ; = - Z
| |
| |
| | O] 4
| BHE ®
W2\ _ ) 2|a
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. GATE VALVE, SW 1" 4
2. 100 mm, PIPE, PBE 1" 2
3. 100 mm, PIPE, TOE/POE 1" 2
4. SWAGE NIPPLE, PLE/TSE 1"x1/2" 2
5. FULL COUPLING, THRD 1/2" 2
SPECS: FNO5 / FNO7 RATING: 600#
NOTE: DRAWING TITLE :

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—0001).

DP CELL FLOW TRANSMITTER
(GAS/LINE)

SHEET | 4 OF 4 |




£
LR

X CUUINE PR KVOSIW PR - EPRCHCY K IS g

&w&)ﬁ.[c“’bli‘“’:' )D )lfp.ﬂ,-bo.:b_) CJ'J."

NISOC (‘m,%" E
ol 0,5l PIPING ASSEMBLY DRAWING
053—-073-9184 059p | 6ol i oS olo | oMgs | ws, [ es| Jum s 67 ;1 28 tamis o Ll
BK | ecs |Pepco | 120 Pl DW | 0002 | DOO
PIPING | INST.
o |
TANK NOZZLE 9
e
' =
| [
T
| V% | T
| = | |
| | 3
| IE | 8 LG
| | .
| | pad
| L
| X
|< : : - : : j 3 X
TANK NOZZLE 9
(2 L
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. GASKET, 300# 2" 4
2. BOLTS AND NUTS 5/8"x90L 32
3. GATE VALVE, FLG, 300# 2" 2
SPECS : ANO1 / AZO1 / ANO5 / ANO7 / AN26 / CN26 RATING: 300#
NOTE: DRAWING TITLE :

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—0001).

LEVEL GAUGE-SIDE-SIDE
(DIRECT CONNECTION)

SHEET | 1 OF 1 |




£
LR

S CNETICIRVOIRR ISRV | RPRCEA KV SRS PR

_—
\

=1
.
A

@_.

<l

DOC O

NISOC i 58] & gl 55 58 RS RETEPRCINEY @%ﬁé‘? E
ol o)led PIPING ASSEMBLY DRAWING
053-073-9184 0592 | 6w |ouiS ol | Mg | wd, [Sepy| Jum [ 4 67 51 29 samieo)les
BK | ecs |Pepco | 120 | I DW | 0002 | DOO
PIPING INST.
VESSEL NOZZLE @ e L 6
Z\
- OO, 1 0 X
- 3 oo &
| | |I |:/@
: : @—»_l I I><
| g | @ & 9 LG
| 7 Q@ @ -f
8 Qe RO C
>
| | ] b
| | @7 : W—I
c |
I I 0 g X
| DO
| ia— (6)
) 15
(D
@8

VESSEL NOZZLE

-

SPECS :

ANO4 / ANO5 / ANO7

RATING:

300#

NOTE:

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—-0001).

DRAWING TITLE :

LEVEL GAUGE-SIDE—SIDE
(INDIRECT CONNECTION/STANDPIPE)

SHEET |1 OF 6 |




S 15 o lee ad g Gl il 5 o lagl 055 é
b

&
ST e

NISOC i(.:._._,.&)ﬂcqolﬁ;..fl 5D )'@PSU;J.:JJQLL’I @%%(} ‘E
toler o)l PIPING ASSEMBLY DRAWING
053-073-9184 25an |6 G faaiSlo| Mg | @2, Syl py| Jom | 67 5130 endo o)l

BK GCS | PEDCO 120 Pl Dw 0002 D00

MATERIAL LIST

SR.NO. ITEM SIZE QUANTITY REMARKS

1 GATE VALVE, 150# 3" 2

2. GATE VALVE, 300# 2 2

3. GASKET, 150# 3" 4

4. GASKET, 300# 2 4

5. BOLTS AND NUTS 5/8"X90L 16

6. BOLTS AND NUTS 5/8"X90L 32

7. GATE VALVE, SW 3/4" 2

8. FLANGE, 150# 3" 2

9. FLANGE, 300# 2 2

10. PIPE, BE 3" HOLD

11. PIPE, BE 2 HOLD

12. EQUAL TEE 3" 2

13. RED.TEE 3" X 2" 2

14. CAP, BW 3" 2

15. HALF COUPLING, SW 3/4" 2

16. CAP, THRD 3/4" 2

17. 100 mm, PIPE, PBE 3/4" 2

18. 100 mm, PIPE, POE/TOE 3/4" 2

SPECS: ANO4 / ANO5 / ANO7 RATING: 300#

NOTE: DRAWING TITLE :
1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—-0001). LEVEL GAUGE—SIDE—SIDE

(INDIRECT CONNECTION/STANDPIPE)

SHEET | 2 OF 6 |




£
LR

S CNETICIRVOIRR ISRV | RPRCEA KV SRS PR

_—
\

=1
.
A

@_.

<l

DOC O

NISOC i 58] & gl 55 58 RS RETEPRCINEY @%ﬁé‘? E
ol o)led PIPING ASSEMBLY DRAWING
053-073-9184 0592 | 6w |ouiS ol | Mg | wd, [Sepy| Jum [ 4 67 51 81 samde o)l
BK | ecs |Pepco | 120 | I DW | 0002 | DOO
PIPING INST.
VESSEL NOZZLE @ e L 6
Z\
- OO, 1 0 X
- 3 oo &
| | |I |:/@
: : @—»_l I I><
| g | @ & 9 LG
| 7 Q@ @ -f
8 Qe RO C
>
| | ] b
| | @7 : W—I
c |
I I 0 g X
| DO
| ia— (6)
) 15
(D
@8

VESSEL NOZZLE

-

SPECS :

CNO5 / CNO7 / CS000

RATING:

300#

NOTE:

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—-0001).

DRAWING TITLE :

LEVEL GAUGE-SIDE-SIDE
(INDIRECT CONNECTION/STANDPIPE)

SHEET | 3 OF 6 |




& S 15 o lee ad g Gl il 5 o lagl 055 é
[ . h
KU e

NISOC i(.:._._,.&)ﬂcqolﬁ;..fl 5D )'@PSU;J.:JJQLL’I @%%(} ‘E
toler o)l PIPING ASSEMBLY DRAWING
053-073-9184 25an |6 G faaiSlo| Mg | @2, Syl py| Jom | 67 5132 o o)l

BK GCS | PEDCO 120 Pl Dw 0002 D00

MATERIAL LIST

SR.NO. ITEM SIZE QUANTITY REMARKS

1. GATE VALVE, 300# 3" 2

2. GATE VALVE, 300# 2 2

3. GASKET, 300# 3" 4

4. GASKET, 300# 2 4

5. BOLTS AND NUTS 3/4"X115L 32

6. BOLTS AND NUTS 5/8"X90L 32

7. GATE VALVE, SW 3/4" 2

8. FLANGE, 300# 3" 2

9. FLANGE, 300# 2 2

10. PIPE, BE 3" HOLD

11. PIPE, BE 2 HOLD

12. EQUAL TEE 3" 2

13. RED.TEE 3" X 2" 2

14. CAP, BW 3" 2

15. HALF COUPLING, SW 3/4" 2

16. CAP, THRD 3/4" 2

17. 100 mm, PIPE, PBE 3/4" 2

18. 100 mm, PIPE, POE/TOE 3/4" 2

SPECS: CNO5 / CNO7 / CS000 RATING: 300#

NOTE: DRAWING TITLE :
1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—-0001). LEVEL GAUGE—SIDE—SIDE

(INDIRECT CONNECTION/STANDPIPE)

SHEET | 4 OF 6 |




=
LR

NISOC

S 6551 por oKl 55 8 (ST as, Slast C‘maev E

X CUUINE PR KVOSIW PR - EPRCHCY K IS g Q‘
A

:o\u.» o-,lo&

053-073-9184

PIPING ASSEMBLY DRAWING

0582

G)K‘u“.‘

n\.\;&SJJLo

S

L)

8o | Jem A

BK

GCS

PEDCO

120

Pl

Dw

0002 D00

VESSEL NOZZLE

—

VESSEL

_—
\

—_—

5

VESSEL NOZZLE

INST.

SPECS :

FNO5 / FNO7

RATING: 600#

NOTE:

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—-0001).

DRAWING TITLE :

LEVEL GAUGE-SIDE—SIDE
(INDIRECT CONNECTION/STANDPIPE)

SHEET | 5 OF 6 |




X CUUINE PR KVOSIW PR - EPRCHCY K IS g Q‘
b

&
ST e

NISOC i(.:._._,.&)ﬂcqolﬁ;..fl 5D )'@PSU;J.:JJQLL’I @%%(} ‘E
toler o)l PIPING ASSEMBLY DRAWING
053-073-9184 25an |6 G faaiSlo| Mg | @2, Syl py| Jom | 67 513t o o)l

BK GCS | PEDCO 120 Pl Dw 0002 D00

MATERIAL LIST

SR.NO. ITEM SIZE QUANTITY REMARKS

1 GATE VALVE, 600# 3" 4

2. GATE VALVE, 600# 2 4

3. GASKET, 600# 3" 6

4. GASKET, 600# 2 6

5. BOLTS AND NUTS 3/4"X130L 48

6. BOLTS AND NUTS 5/8"X110L 48

7. GATE VALVE, SW 3/4" 4

8. FLANGE, 600# 3" 2

9. FLANGE, 600# 2 2

10. PIPE, BE 3" HOLD

11. PIPE, BE 2 HOLD

12. EQUAL TEE 3" 2

13. RED.TEE 3" X 2" 2

14. CAP, BW 3" 2

15. HALF COUPLING, SW 3/4" 2

16. CAP, THRD 3/4" 2

17. 100 mm, PIPE, PBE 3/4" 4

18. 100 mm, PIPE, POE/TOE 3/4" 2

SPECS: FNO5 / FNO7 RATING: 600#

NOTE: DRAWING TITLE :

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—0001).
LEVEL GAUGE-SIDE-SIDE
(INDIRECT CONNECTION/STANDPIPE)

SHEET | 6 OF 6 |




£
LR

S CNETICIRVOIRR ISRV | RPRCEA KV SRS PR

—
S~

=1
.
A

@_.

<l

DOC O

NISOC i 58] & gl 55 58 RS RETEPRCINEY @%ﬁé‘? E
ol o)led PIPING ASSEMBLY DRAWING
053-073-9184 0592 | 6w |ouiS ol | Mg | wd, [Sepy| Jum [ 4 67 5135 samdeo)los
BK | ecs |Pepco | 120 | I DW | 0002 | DOO
PIPING INST.
VESSEL NOZZLE @ e L 6
Z\
- OO, 1 0 X
- 2 oo &
| | |I |:/@
: : @—»_l I I><
| g | @ & 9 LT
| 7 Q@ @ -f
8 Qe RO C
>
| | ] b
| | @7 : W—I
c |
I I 0 g X
| DO
| ia— (6)
) 15
(D
@8

VESSEL NOZZLE

-

SPECS :

ANO4 / ANO5 / ANO7

RATING:

300#

NOTE:

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—-0001).

DRAWING TITLE :

DISPLACER LEVEL TRANSMITTER
(INDIRECT CONNECTION/STANDPIPE)

SHEET |1 OF 6 |




X CUUINE PR KVOSIW PR - EPRCHCY K IS g Q‘
b

&
ST e

NISOC i(.:._._,.&)ﬂcqolﬁ;..fl 5D )'@PSU;J.:JJQLL’I @%%(} ‘E
toler o)l PIPING ASSEMBLY DRAWING
053-073-9184 25an |6 G faaiSlo| Mg | @2, Syl py| Jom | 67 5136 endo o)l

BK GCS | PEDCO 120 Pl Dw 0002 D00

MATERIAL LIST

SR.NO. ITEM SIZE QUANTITY REMARKS

1 GATE VALVE, 150# 3" 2

2. GATE VALVE, 300# 2 2

3. GASKET, 150# 3" 4

4. GASKET, 300# 2 4

5. BOLTS AND NUTS 5/8"X90L 16

6. BOLTS AND NUTS 5/8"X90L 32

7. GATE VALVE, SW 3/4" 2

8. FLANGE, 150# 3" 2

9. FLANGE, 300# 2 2

10. PIPE, BE 3" HOLD

11. PIPE, BE 2 HOLD

12. EQUAL TEE 3" 2

13. RED.TEE 3" X 2" 2

14. CAP, BW 3" 2

15. HALF COUPLING, SW 3/4" 2

16. CAP, THRD 3/4" 2

17. 100 mm, PIPE, PBE 3/4" 2

18. 100 mm, PIPE, POE/TOE 3/4" 2

SPECS: ANO4 / ANO5 / ANO7 RATING: 300#

NOTE: DRAWING TITLE :
1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—-0001). DISPLACER LEVEL TRANSMITTER

(INDIRECT CONNECTION/STANDPIPE)

SHEET | 2 OF 6 |




£
LR

S CNETICIRVOIRR ISRV | RPRCEA KV SRS PR

—
S~

=1
.
A

@_.

<l

DOC O

NISOC i 58] & gl 55 58 RS RETEPRCINEY @%ﬁé‘? E
ol o)led PIPING ASSEMBLY DRAWING
053-073-9184 0592 | 6w |ouiS ol | Mg | wd, [Sepy| Jum [ 4 67 5137 samieo)les
BK | ecs |Pepco | 120 | I DW | 0002 | DOO
PIPING INST.
VESSEL NOZZLE @ e L 6
Z\
- OO, 1 0 X
- 2 oo &
| | |I |:/@
: : @—»_l I I><
| g | @ & 9 LT
| 7 Q@ @ -f
8 Qe RO C
>
| | ] b
| | @7 : W—I
c |
I I 0 g X
| DO
| ia— (6)
) 15
(D
@8

VESSEL NOZZLE

-

SPECS :

CNO5 / CNO7 / CS000

RATING:

300#

NOTE:

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—-0001).

DRAWING TITLE :

DISPLACER LEVEL TRANSMITTER
(INDIRECT CONNECTION/STANDPIPE)

SHEET | 3 OF 6 |




X CUUINE PR KVOSIW PR - EPRCHCY K IS g Q‘
b

&
ST e

NISOC i(.:._._,.&)ﬂcqolﬁ;..fl 5D )'@PSU;J.:JJQLL’I @%%(} ‘E
toler o)l PIPING ASSEMBLY DRAWING
053-073-9184 25an |6 G faaiSlo| Mg | @2, Syl py| Jom | 67 5138 exdo o)l

BK GCS | PEDCO 120 Pl Dw 0002 D00

MATERIAL LIST

SR.NO. ITEM SIZE QUANTITY REMARKS

1. GATE VALVE, 300# 3" 2

2. GATE VALVE, 300# 2 2

3. GASKET, 300# 3" 4

4. GASKET, 300# 2 4

5. BOLTS AND NUTS 3/4"X115L 32

6. BOLTS AND NUTS 5/8"X90L 32

7. GATE VALVE, SW 3/4" 2

8. FLANGE, 300# 3" 2

9. FLANGE, 300# 2 2

10. PIPE, BE 3" HOLD

11. PIPE, BE 2 HOLD

12. EQUAL TEE 3" 2

13. RED.TEE 3" X 2" 2

14. CAP, BW 3" 2

15. HALF COUPLING, SW 3/4" 2

16. CAP, THRD 3/4" 2

17. 100 mm, PIPE, PBE 3/4" 2

18. 100 mm, PIPE, POE/TOE 3/4" 2

SPECS: CNO5 / CNO7 / CS000 RATING: 300#

NOTE: DRAWING TITLE :
1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—-0001). DISPLACER LEVEL TRANSMITTER

(INDIRECT CONNECTION/STANDPIPE)

SHEET | 4 OF 6 |




£
LR

NISOC

S 6551 por oKl 55 8 (ST as, Slast C‘maev E

X CUUINE PR KVOSIW PR - EPRCHCY K IS g Q‘
A

:o\u.» o-,lo&

053-073-9184

PIPING ASSEMBLY DRAWING

0582

G)K‘u“.‘

n\.\;&SJJLo

S

L)

8o | Jem A

BK

GCS

PEDCO

120

Pl

Dw

0002 D00

VESSEL NOZZLE

J—

VESSEL

—
S~

—_—

-

VESSEL NOZZLE

INST.

SPECS :

FNO5 / FNO7

RATING: 600#

NOTE:

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—-0001).

DRAWING TITLE :

DISPLACER LEVEL TRANSMITTER
(INDIRECT CONNECTION/STANDPIPE)

SHEET | 5 OF 6 |




X CUUINE PR KVOSIW PR - EPRCHCY K IS g Q‘
b

&
ST e

NISOC i(.:._._,.&)ﬂcqolﬁ;..fl 5D )'@PSU;J.:JJQLL’I @%%(} ‘E
toler o)l PIPING ASSEMBLY DRAWING
053-073-9184 25an |6 G faaiSlo| Mg | @2, Syl py| Jom | 67 5140 o o)l

BK GCS | PEDCO 120 Pl Dw 0002 D00

MATERIAL LIST

SR.NO. ITEM SIZE QUANTITY REMARKS

1 GATE VALVE, 600# 3" 4

2. GATE VALVE, 600# 2" 4

3. GASKET, 600# 3" 6

4. GASKET, 600# 2" 6

5. BOLTS AND NUTS 3/4"X130L 48

6. BOLTS AND NUTS 5/8"X110L 48

7. GATE VALVE, SW 3/4" 4

8. FLANGE, 600# 3" 2

9. FLANGE, 600# 2" 2

10. PIPE, BE 3" HOLD

11. PIPE, BE 2" HOLD

12. EQUAL TEE 3" 2

13. RED.TEE 3"x2 2

14. CAP, BW 3" 2

15. HALF COUPLING, SW 3/4" 2

16. CAP, THRD 3/4" 2

17. 100 mm, PIPE, PBE 3/4" 4

18. 100 mm, PIPE, POE/TOE 3/4" 2

SPECS: FNO5 / FNO7 RATING: 600#

NOTE: DRAWING TITLE :
1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO-120—PI-SP—0001), DISPLACER LEVEL TRANSMITTER

(INDIRECT CONNECTION/STANDPIPE)

SHEET | 6 OF 6 |




& X CUUINE PR KVOSIW PR - EPRCHCY K IS g Q‘
[—1 5 h
KU e
NISOC i(.:._._._.‘s)_ﬂcqoli';...:l ) )'lfpﬂ‘;;q.:;)ol.ul @@gﬁ(} ‘E
toler o)l PIPING ASSEMBLY DRAWING
053-073-9184 25an |6 G faaiSlo| Mg | @2, Syl py| Jom | 67 Sl Al o o)l
BK | o6cs | PEDCO | 120 Pl ow | o002 | Doo
=
(%]
00 :
VESSEL NOZZLE eo
S © :
: z
K> © : ©
®—/\ N0
PIPING INST.

VESSEL

oo
X

56

VESSEL NOZZLE o \ VESSEL
00 R ¥
TYPE (A) TYPE (B)
MATERIAL LIST

SR.NO. ITEM SIZE QUANTITY REMARKS
1 GASKET, 300# 2" 4
2. BOLTS AND NUTS 5/8"x90L 32
3. BLIND FLANGE, 300# 2" 2 TO BE DRILLED FOR 1" THRD MALE CONNECTION
4. GATE VALVE, FLG, 300# 2" 2
5. SWAGE NIPPLE, TBE 1"x1/2" 2
6. FULL COUPLING, THRD 12" 2
SPECS : ANO1 / ANO5 / ANO7 / AZO1 / AN26 / CN26 RATING: 300#

NOTE: DRAWING TITLE :

1.

FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—0001).

DIFFERENTIAL PRESSURE
LEVEL TRANSMITTER
(VESSEL MOUNTED)

SHEET | 1 OF 1 |




£
LR

&w&)ﬁ.[c“’bli‘“’:' )D )lfp.ﬂ,-bo.:b_) CJ'J."

S CNETICIRVOIRR ISRV | RPRCEA KV SRS PR

NISOC (‘m,%" E
toler o)l PIPING ASSEMBLY DRAWING
053-073-9184 an |68 an oSl o |, [Sm ] Sm | 67 5142 samio ol
BK | o6cs | PEDCO | 120 Pl ow | o002 | Doo
PIPING | INST.
L
oz X e
<
=
—
S~
TANK NOZZLE
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. GASKET, 300# 2" 2
2. BOLTS AND NUTS 5/8"x90L 16
3. GATE VALVE, FLG, 300# 2" 1
SPECS : ANO4 RATING: 300#
NOTE: DRAWING TITLE :

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—0001).

DISPLACER LEVEL TRANSMITTER
(DIRECT CONNECTION)

SHEET | 1 OF 1 |




£
LR

S CNETICIRVOIRR ISRV | RPRCEA KV SRS PR

&Uis)ﬁ.[c“’bli"":" )D )lfp.ﬂ,-bo.:b_) CJ'J."

NISOC @ TH
ol 0,5l PIPING ASSEMBLY DRAWING
053-073-9184 039 |6 oS plo| s | w3, [Speps| S | e 67 51 43 ranio o)l
BK | ecs |Pepco | 120 | PI DW | 0002 | DOO
PIPING | INST.
TANK NOZZLE =~ @
_____ (2)
o RIS
D
' ' D
| i
| « |
| Z | LS
| <L | %
| — | :
| |
| |
| —PXI=
| | 5
S B0y
(2)
2

TANK NOZZLE

MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. GASKET, 300# 2 4
2, BOLTS AND NUTS 5/8"x90L 32
3. GATE VALVE, FLG, 300# 2 2
SPECS : ANO1/ANO4 / ANO5 / ANO7 / ANO8 / CNO5 / CNO7 / CS000 RATING: 300#

NOTE:

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—0001).

DRAWING TITLE :

DISPLACER LEVEL SWITCH-SIDE-SIDE
(DIRECT CONNECTION)

SHEET |1 OF 2 |




£
LR

NISOC

X CUUINE PR KVOSIW PR - EPRCHCY K IS g

&w&)ﬁ.[c“’bli‘“’:' )D )lfp.ﬂ,-bo.:b_) CJ'J."

:o\ou OJlo-:'

053-073-9184

PIPING ASSEMBLY DRAWING

0592 | 6w |ouiS ol | Mg | wd, [Sepy| Jum [ 4

BK GCS | PEDCO 120 Pl Dw 0002 D00

TANK NOZZLE

PIPING INST.

000000,

—_— _

;

LS

TANK
CEEE

TANK NOZZLE

0000006

(—D<

= = \Ef/
4

MATERIAL LIST

SR.NO. ITEM SIZE QUANTITY REMARKS
1. GASKET, 600# 2 6
2, BOLTS AND NUTS 5/8"x110L 48
3. GATE VALVE, FLG, 600# 2 4
SPECS . FNO5 / FNO7 RATING: 600#
NOTE: DRAWING TITLE :

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—0001).

DISPLACER LEVEL SWITCH-SIDE-SIDE
(DIRECT CONNECTION)

SHEET | 2 OF 2 |




£
LR

X CUUINE PR KVOSIW PR - EPRCHCY K IS g Q‘
A

NISOC S 6551 por oKl 55 8 (ST as, Slast @@w @
ol 0,5l PIPING ASSEMBLY DRAWING
053-073-9184 e |6 G [ousS b s [ a2, [Smps] Jopm | o 67 51 45 ramioo)led
BK | o6cs | PEDCO | 120 Pl ow | o002 | Doo
o PIPING INST.
| | ('7)
| | Z
| | 162 mm -
| |
ol
| o |
5 @
- 2lg -
I O 5 | -
| E z |
| |
w
[ | §
| | & %
| | [ NOTE 3 \
| |
| | - I
| |
. _ )
TYPE (A) TYPE (B)
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. FLANGE, SW, 300# 11/2" 1
2 GASKET, 300# 11/2" 1
3. BOLTS AND NUTS 3/4"x95L 4
4. SOCKOLET 11/2" 1
5. PIPE, PBE 11/2" NOTE 2
SPECS: ANO4 / ANO5 / ANO7 / CNO5 / CNO7 / CS000 RATING: 300#

NOTE:

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—-0001).
2. DISTANCE BETWEEN FACE OF FLANGE (FOF) & TOP OF PIPE (TOP)

SHALL BE CONSIDERED 162 mm.

3. MINIMUM RUN PIPE SIZE SHALL BE CONSIDERED 4" .

DRAWING TITLE :

TEMPERATURE GAUGE
(PIPE)

SHEET |1 OF 2 |




— .

SR o
NISOC &;H&),Tc.eoli:..,,l 53 )'\SPSiJ;;q:.;)QIJ.’l C‘%ggé;; E

ol o,led PIPING ASSEMBLY DRAWING
- 3! tdxiao 5
053-073-9184 o597 |6 s fonSplo| s | wd, [Sjae e S | s 67 51 46 ol
BK 6cs | PEDCO | 120 PI DW 0002 | DOO
m’ - \] PIPING INST.
I | =
)
| | pd
| | 162 mm -
I I
i 9
| a | e o
| 3:' ® o
| olE | 3
| E z |
| |
|
| | & D N
| | [ NOTE 3 3
I I
| | - - /
I I
YA _ )
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. FLANGE, SW, 600# 11/2" 1
2 GASKET, 600# 11/2" 1
3. BOLTS AND NUTS 3/4"x115L 4
4. SOCKOLET 11/2" 1
5. PIPE, PBE 11/2" NOTE 2
SPECS: FNO5 / FNO7 RATING: 600#
NOTE: DRAWING TITLE :
1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI—SP—0001).
2. DISTANCE BETWEEN FACE OF FLANGE (FOF) & TOP OF PIPE (TOP) TEMPERATURE GAUGE
SHALL BE CONSIDERED 162 mm. (PIPE)
3. MINIMUM RUN PIPE SIZE SHALL BE CONSIDERED 4" .
SHEET [ 2 OF 2 |




& K CTE TR KWART I 7 A RW <P d
— . h
ST e
NISOC :i;.:ﬁ.‘_g_)ﬂc.,.?oli:‘.ﬂl 53 jlf(‘.ﬂ);; 5, Slast :‘g'g%gg E
1olew 0 e PIPING ASSEMBLY DRAWING
053-073-9184 o30n |6 amforS ol ] edes | ws, [Sups] sbp | e 67 1 47 raméo oyl
BK | ecs [Pebco| 120 Pl ow | o002 | Doo
VESSEL NOZZLE
=
—— z
T :
] %
| L | g VESSEL NOZZLE
n ?:” a _ _ =
! r 7
S A
S l
| | | VESSEL ||
- _ 3 Y
PIPING INST.
TYPE (A) TYPE (B)
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. GASKET, 300# 2" 1
2. BOLTS AND NUTS 5/8"x90L 8
SPECS . ANO5 / ANO7 / CNO5 / CNO7 / CS000 RATING: 300#
NOTE: DRAWING TITLE :

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP-0001)

TEMPERATURE GAUGE

(VESSEL)

SHEET

1 OF 2 |




& K SO RWART CIEW Y RO IR Y d
— . h
SR e

NISOC :i;.:ﬁ.‘s_)ﬂc.,.?oli:ﬂl_)s SE ST sy Slasl :‘g,g%gg E
ol 0,k PIPING ASSEMBLY DRAWING

.1 e .

053-073-9184 03z | &N dmorSpplo| Vs [ w3, |Syueps| Jup [ s 67 51 48 tmic o)l

BK GCS | PEDCO 120 Pl DW 0002 D00

VESSEL NOZZLE

INST.

~
|
| | VESSEL NOZZLE
= -

I :
Lu <
| ) T
| n —— 7
4 I
S l
| | | VESSEL | |
=~ SV
PIPING : INST.
TYPE (A) TYPE (B)
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. GASKET, 600# 2" 1
2. BOLTS AND NUTS 5/8"x110L 8
SPECS ; FNO5 / FNO7 RATING: 600#
NOTE: DRAWING TITLE :

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING

MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP-0001)
TEMPERATURE GAUGE

(VESSEL)

SHEET | 2 OF 2 |




& K TP ) RV P W ) PO R Sy d
SR e
NISOC :i;.:._.‘_g_),TCQ.?oli:‘...il 52 58 WS s, Slasd :‘g,g%gg
1olew 0 e PIPING ASSEMBLY DRAWING
053-073-9184 055z |6 oS olo| s | ws, [y ps| Yl | s 67 51 49 ramioo)ls
BK ces | Pepco | 120 Pl pw | oooz | poo
-~ PIPING INST.
A ") _
| | =
| | pd
| | 162 mm -
! ! 00
I o ¢
| a | a £ -—0)
| e o o
< jw g
S 5
| E z
|
i
E 5 3
| N X
l | NOTE 3 \
|
| - /
|
A _ _
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. FLANGE, SW, 300# 11/2" 1
2 GASKET, 300# 11/2" 1
3. BOLTS AND NUTS 3/4"x95L 4
4. SOCKOLET 11/2" 1
5. PIPE, PBE 11/2" NOTE 2
SPECS . ANO4 / ANO5 / ANO7 / CNO5 / CNO7 / CS000 RATING: 300#
NOTE: DRAWING TITLE :

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP-0001)
2. DISTANCE BETWEEN FACE OF FLANGE (FOF) & TOP OF PIPE (TOP)

SHALL BE

3. MINIMUM RUN PIPE SIZE SHALL BE CONSIDERED 4" .

CONSIDERED 162 mm.

TEMPERATURE TRANSMITTER

SHEET

1 OF 3




&b
LR

X SO KWART JC N 5| BPRSCEA KK Cy P d
‘_;,,)WC.L.., n

NISOC :i;.:._.‘_g_),TCQ.?oli:‘...il 52 58 WS s, Slasd :‘g,g%gg E
1olew 0 e PIPING ASSEMBLY DRAWING
053-073-9184 055z |6 oS olo| s | ws, [y ps| Yl | s 67 5150 ramiools
Bk | ocs |repco| 120 Pl ow | ooo2 | poo
— <. PIPING INST.
CZA )
| |
| | .
I | 162 mm 5
| 4
|yl
L 000
| o | U] €
| Jdlm | Z E
ERIE o & O,
| Ei2 ==
| | I S A
e g 3
| | 1 N HORIZONTAL PIPE N
| | ,’ NOTE 3 \\
| |
| | - /
| |
2%/,
TYPE (A) TYPE (B)
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS

1. FLANGE, THRD, 300# 11/2" 1

2 GASKET, 300# 11/2" 1

3. BOLTS AND NUTS 3/4"x95L 4

4. PIPE, TBE 11/2" NOTE 2

SPECS : AZ01 RATING: 300#

NOTE: DRAWING TITLE :

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP-0001)
2. DISTANCE BETWEEN FACE OF FLANGE (FOF) & TOP OF PIPE (TOP)

SHALL BE CONSIDERED 162 mm.
3. MINIMUM RUN PIPE SIZE SHALL BE CONSIDERED 4" .

TEMPERATURE TRANSMITTER

SHEET | 2 OF 3




‘ X SO KWART JC N 5| BPRSCEA KK Cy P d
SR e
NISOC :i;.:._.‘_g_),TCQ.?oli:‘...il 52 58 WS s, Slasd :‘g,g%gg E
1olew 0 e PIPING ASSEMBLY DRAWING
053-073-9184 055z |6 oS olo| s | ws, [y ps| Yl | s 67 51 51 ramioo)ls
Bk | ocs |repco| 120 Pl ow | ooo2 | poo
%/ 4 PIPING INST.
| | ('7)
| | prd
| | 162 mm -
| |
o 9
| @ | @ T
I <_EI S| i o
I Sl | =
| E z |
| |
5 S 3
| | ® N HORIZONTAL PIPE N
l l |/ NOTE 3 \\
| |
| | - I
| |
2 _ )
TYPE (A) TYPE (B)
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS

1. FLANGE, SW, 600# 11/2" 1

2 GASKET, 600# 11/2" 1

3. BOLTS AND NUTS 3/4"x115L 4

4. SOCKOLET 11/2" 1

5. PIPE, PBE 11/2" NOTE 2

SPECS . FNO5 / FNO7 RATING: 600#

NOTE: DRAWING TITLE :

1.

SHALL BE

3. MINIMUM RUN PIPE SIZE SHALL BE CONSIDERED 4" .

FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP-0001)
2. DISTANCE BETWEEN FACE OF FLANGE (FOF) & TOP OF PIPE (TOP)

CONSIDERED 162 mm.

TEMPERATURE TRANSMITTER

SHEET | 3 OF 3




&b
LR

X SO KWART JC N 5| BPRSCEA KK Cy P d
‘_;,,)WC.L.., n

NISOC :i;.:._.‘_g_),TCQ.?oli:‘...il 52 58 WS s, Slasd :‘g,g%gg E
ol 0,k PIPING ASSEMBLY DRAWING
! i 0,03
053-073-9184 03z | &N dmorSpplo| Vs [ w3, |Syueps| Jup [ s 67 515k o)lo
Bk | ocs |repco| 120 Pl pw | oooz | bpoo
-~ PIPING INST.
4 ) .
! 0
| pd
| 162 mm -
! 020G
|
o
| 4 £
I a £ ®
o [9V]
S

VERTICAL PIPE
NOTE 3

% HORIZONTAL PIPE %
,/ NOTE 3 \|
- - /
W22 _ .
TYPE (B)
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. FLANGE, SW, 300# 11/2" 1
2 GASKET, 300# 11/2" 1
3. BOLTS AND NUTS 3/4"x95L 4
4. SOCKOLET 11/2" 1
5. PIPE, PBE 11/2" NOTE 2
SPECS : ANO4 / ANO5 / ANO7 / CNO5 / CNO7 / CS000 RATING: 300#
NOTE: DRAWING TITLE :

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP-0001)
2. DISTANCE BETWEEN FACE OF FLANGE (FOF) & TOP OF PIPE (TOP)

SHALL BE CONSIDERED 162 mm.
3. MINIMUM RUN PIPE SIZE SHALL BE CONSIDERED 4" .

TEMPERATURE SWITCH

SHEET | 1 OF 2




& K TP ) RV P W ) PO R Sy d
SR e
NISOC :i;.:._.‘_g_),TCQ.?oli:‘...il 5 jlf(.flj;; @, Slasd :‘g,g%gg E
1olew 0 e PIPING ASSEMBLY DRAWING
053-073-9184 o552 |6, dmouSplo| Vg | w3, [ ps| Yo | e 67 51 83 amioo)lud
Bk | ocs |repco| 120 Pl pw | oooz | bpoo
%774 PIPING INST.
| | ('7)
| | prd
| 162 mm -
| |
R 9
| @ | O T
| Jd!lm | N o
I SIE | .
| E z |
| |
5 5 3
| | ® N HORIZONTAL PIPE N
| | [ NOTE 3 3
| |
| | - I
| |
2 _ )
TYPE (A) TYPE (B)
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS

1. FLANGE, SW, 600# 11/2" 1

2 GASKET, 600# 11/2" 1

3. BOLTS AND NUTS 3/4"x115L 4

4. SOCKOLET 11/2" 1

5. PIPE, PBE 11/2" NOTE 2

SPECS . FNO5 / FNO7 RATING: 600#

NOTE: DRAWING TITLE :

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP-0001)
2. DISTANCE BETWEEN FACE OF FLANGE (FOF) & TOP OF PIPE (TOP)

SHALL BE CONSIDERED 162 mm.
3. MINIMUM RUN PIPE SIZE SHALL BE CONSIDERED 4" .

TEMPERATURE SWITCH

SHEET

2 OF 2




& K CTE TR KWART I 7 A RW <P d
SR e
NISOC :i;.:ﬁ.‘_g)ﬂc.,.?oli:‘..ﬂl 5 jlf(‘flj;; @, Slasd :‘g,g%gg E
1olew 0 e PIPING ASSEMBLY DRAWING
053-073-9184 o555 |68 G fouiS o] Vs | s, [Sueps] Jop | e 67 51 84 rmicoled
Bk | oecs |pepco | 120 Pl ow | ooo2 | poo
@—m . F £ s
M
&O—— 2
2 :
L

11/2” AND SMALLER

11/2” AND SMALLER

(VENT) (DRAIN)
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. GATE VALVE, SW 1/2" 1
2. REDUCING TEE, SW LINE SIZEX1/2" 1
3. CAP, THRD 1/2" 1
4. 100 mm, PIPE, PBE 1/2" 1
5. 100 mm, PIPE, POE/TOE 1/2" 1
SPECS : ANO1/ANO4/ANO5/ANO7 / ANO8/ CNO5/ CNO7 / CS000 RATING: 150# / 300#

NOTE:

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP-0001)

DRAWING TITLE :

PROCESS VENT & PROCESS DRAIN
FOR 11/2” AND SMALLER LINES

SHEET |1 OF 3 |




& K SO RWART CIEW Y RO IR Y d
— . h
SR e

NISOC :i;.:ﬁ.‘s_)ﬂc.,.?oli:ﬂl); SE ST sy Slasl :‘g,g%gg E
ol 0,k PIPING ASSEMBLY DRAWING

.1 e .

053-073-9184 03z | &N dmorSpplo| Vs [ w3, |Syueps| Jup [ s 67 51 85 tmioo)led

BK GCS | PEDCO 120 Pl DW 0002 D00

@ O
) 0 )

11/2” AND SMALLER 11/2” AND SMALLER
(VENT) (DRAIN)

MATERIAL LIST

SR.NO. ITEM SIZE QUANTITY REMARKS
1. GATE VALVE, THRD 1/2" 1
2. CAP, THRD 1/2" 1
3. 100 mm, PIPE, TBE 1/2" 2
SPECS . AZ01 RATING: 150#
NOTE: DRAWING TITLE :

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP-0001)
PROCESS VENT & PROCESS DRAIN

FOR 11/2” AND SMALLER LINES

SHEET | 2 OF 3 |




& X SO KWART JC N 5| BPRSCEA KK Cy P d
SR e
NISOC :i;.:ﬁ.‘s_)ﬂc.,.?oli:ﬂl); SE ST sy Slasl :‘g,g%gg E
1olew 0 e PIPING ASSEMBLY DRAWING
053-073-9184 ojsn |68 amfouSplof SN | ad, [Smps| Jum | & 67 5156 ramio o)l
Bk | ocs |repco| 120 Pl ow | ooo2 | poo
@ ) =) r (
ul ( | | )
m
2 :
2 :
L
( 1 C ) '-"<—(:)
) - = (

11/2” AND SMALLER

11/2” AND SMALLER

(VENT) (DRAIN)
MATERIAL LIST

SR.NO. ITEM SIZE QUANTITY REMARKS

1. GATE VALVE, SW 1/2" 2

2. REDUCING TEE, SW LINE SIZEX1/2" 1

3. CAP, THRD 1/2" 1

4. 100 mm, PIPE, PBE 1/2" 2

5. 100 mm, PIPE, POE/TOE 1/2" 1

SPECS . FNO5 / FNO7 RATING: 600#
NOTE: DRAWING TITLE :

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP-0001)

PROCESS VENT & PROCESS DRAIN
FOR 11/2” AND SMALLER LINES

SHEET | 3 OF 3 |




&b
LR

S gyl poz ol 5 58 (S5 s, s

TS I EWSRT NN 1 ICA KV Cip g e

‘_,;,)ch.k.d

NISOC (ﬁ‘%ﬁﬁ
1olew 0 e PIPING ASSEMBLY DRAWING
053-073-9184 059 |6 oS plof s | w3, [Spaeps| Jum | e 67 5157 rmio sl
Bk | ocs |repco| 120 Pl pw | oooz | bpoo
@—m ) (
( ) )
( { )
) ( L_l__@
2” AND LARGER 2” AND LARGER
(VENT) (DRAIN)
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. GATE VALVE, SW 3/4" 1
2. SOCKOLET 3/4" 1
3. CAP, THRD 3/4" 1
4. 100 mm, PIPE, PBE 3/4" 1
5. 100 mm, PIPE, POE/TOE 3/4" 1
SPECS : ANO1/ANO4/ANO5/ANO7 / ANO8/ CNO5/ CNO7 / CS000 RATING: 150# / 300#

NOTE:
1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP-0001)

DRAWING TITLE :

PROCESS VENT & PROCESS DRAIN
FOR 2" AND LARGER LINES

SHEET | 1 OF 3




& K SO RWART CIEW Y RO IR Y d
— . h
SR e

NISOC :i;.:ﬁ.‘s_)ﬂc.,.?oli:ﬂl); SE ST sy Slasl :‘g,g%gg E
ol 0,k PIPING ASSEMBLY DRAWING

! i 0,03

053-073-9184 03z | &N dmorSpplo| Vs [ w3, |Syueps| Jup [ s 67 5158 o)lo

BK GCS | PEDCO 120 Pl DW 0002 D00

( )
) 0 l—©®

2” AND LARGER 2” AND LARGER
(VENT) (DRAIN)

MATERIAL LIST

SR.NO. ITEM SIZE QUANTITY REMARKS
1. GATE VALVE, THRD 3/4" 1
2. CAP, THRD 3/4" 1
3. 100 mm, PIPE, TBE 3/4" 2
SPECS . AZ01 RATING: 150#
NOTE: DRAWING TITLE :

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP-0001)
PROCESS VENT & PROCESS DRAIN

FOR 2" AND LARGER LINES

SHEET | 2 OF 3




&b
LR

S gyl poz ol 5 58 (S5 s, s

TS I EWSRT NN 1 ICA KV Cip g e

‘_,;,)ch.k.d

NISOC @
tolem 0)led PIPING ASSEMBLY DRAWING
053-073-9184 03z | &N dmorSpplo| Vs [ w3, |Syueps| Jup [ s 67 51 59
Bk | ccs |Pebco | 120 | Pl ow | 0002 | Doo
O M ) (
( } )
( { )
) C Hh—-(

2 AND LARGER

2 AND LARGER

1.

FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP-0001)

(VENT) (DRAIN)
MATERIAL LIST

SR.NO. ITEM SIZE QUANTITY REMARKS

1. GATE VALVE, SW 3/4" 2

2. SOCKOLET 3/4" 1

3. CAP, THRD 3/4" 1

4. 100 mm, PIPE, PBE 3/4" 2

5. 100 mm, PIPE, POE/TOE 3/4" 1

SPECS . FNO5 / FNO7 RATING: 600#
NOTE: DRAWING TITLE :

PROCESS VENT & PROCESS DRAIN
FOR 2" AND LARGER LINES

SHEET | 3 OF 3




& K CTE TR KWART I 7 A RW <P d
SR e
NISOC :i;.:ﬁ.‘s_)ﬂc.,.?oli:ﬂl); SE ST sy Slasl :‘g,g%gg E
1olew 0 e PIPING ASSEMBLY DRAWING
053-073-9184 055z |6 oS olo| s | ws, [y ps| Yl | s 67 51 60 ramiools
Bk | oecs |pepco | 120 Pl ow | ooo2 | poo
) = r (
( Tt )
M
2 :
: —I
2 :
(M ]
() 3 F () L_l_—(:)

11/2” AND SMALLER

11/2” AND SMALLER

(VENT) (DRAIN)
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS

1. GATE VALVE, SW 1/2" 1 (DRAIN)

2. REDUCING TEE, SW LINE SIZEX1/2" 1

3. CAP, THRD 1/2" 1

4. 100 mm, PIPE, PBE 1/2" 1 (DRAIN)

5. 100 mm, PIPE, POE/TOE 1/2" 1

SPECS : ANO1/ANO4/ANO5/ANO7 / ANO8/ CNO5/ CNO7 / CS000 RATING: 150# / 300#

NOTE:

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP-0001)

DRAWING TITLE :

HYDROSTATIC VENT & HYDROSTATIC DRAIN
FOR 11/2” AND SMALLER LINES

SHEET |1 OF 3 |




& K SO RWART CIEW Y RO IR Y d
— . h
ST e

NISOC :i;.:ﬁ.‘s_)ﬂc.,.?oli:ﬂl); SE ST sy Slasl :‘g,g%gg E
ol 0,k PIPING ASSEMBLY DRAWING
.1 e .
053-073-9184 03z | &N dmorSpplo| Vs [ w3, |Syueps| Jup [ s 67 51 61 tmioo)led
Bk | ocs |repco| 120 Pl pw | oooz | bpoo
) (
( )

11/2” AND SMALLER 11/2” AND SMALIER
(VENT) (DRAIN)

MATERIAL LIST

SR.NO. ITEM SIZE QUANTITY REMARKS
1. GATE VALVE, THRD 1/2" 1 (DRAIN)
2. HEX. HEAD PLUG, THRD 1/2" 1
3. 100 mm, PIPE, TBE 1/2" 1 (DRAIN)
SPECS . AZ01 RATING: 150#
NOTE: DRAWING TITLE :

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP-0001)
HYDROSTATIC VENT & HYDROSTATIC DRAIN

FOR 11/2” AND SMALLER LINES

SHEET | 2 OF 3 |




&b
LR

S gyl poz ol 5 58 (S5 s, s

TS I EWSRT NN 1 ICA KV Cip g e

‘_,;,)ch.k.d

PEDCO

NISOC @ E
1olew 0 e PIPING ASSEMBLY DRAWING
.1 e .
053-073-9184 03z | &N dmorSpplo| Vs [ w3, |Syueps| Jup [ s 67 51 62 tmioo)lud
Bk | oecs |pepco | 120 Pl ow | ooo2 | poo
) .l r (
( Tt )
mm
2 :
: —I
2 :
L
( . r ) '-"<—(:)
) B L (

11/2” AND SMALLER

11/2” AND SMALLER

(VENT) (DRAIN)
MATERIAL LIST

SR.NO. ITEM SIZE QUANTITY REMARKS

1. GATE VALVE, SW 1/2" 2 (DRAIN)

2. REDUCING TEE, SW LINE SIZEX1/2" 1

3. CAP, THRD 1/2" 1

4. 100 mm, PIPE, PBE 1/2" 2 (DRAIN)

5. 100 mm, PIPE, POE/TOE 1/2" 1

SPECS . FNO5 / FNO7 RATING: 600#
NOTE: DRAWING TITLE :

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP-0001)

HYDROSTATIC VENT & HYDROSTATIC DRAIN
FOR 11/2” AND SMALLER LINES

SHEET | 3 OF 3 |




&b
LR

TS I EWSRT NN 1 ICA KV Cip g e

‘_,;,)ch.k.d

S gyl poz ol 5 58 (S5 s, s

NISOC @ E
ol 0,k PIPING ASSEMBLY DRAWING
! camio 5 ,la
053-073-9184 03z | &N dmorSpplo| Vs [ w3, |Syueps| Jup [ s 67 51 683 o)lo
Bk | oecs |pepco | 120 Pl ow | ooo2 | poo
) (

2" AND LARGER

-—0®
N ©)

2" AND LARGER

(VENT) (DRAIN)
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS

1. GATE VALVE, SW 3/4" 1 (DRAIN)

2. SOCKOLET 3/4" 1

3. CAP, THRD 3/4" 1

4. 100 mm, PIPE, PBE 3/4" 1 (DRAIN)

5. 100 mm, PIPE, POE/TOE 3/4" 1

SPECS : ANO1/ANO4/ANO5/ANO7 / ANO8/ CNO5/ CNO7 / CS000 RATING: 150# / 300#

NOTE:

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP-0001)

DRAWING TITLE :

HYDROSTATIC VENT & HYDROSTATIC DRAIN
FOR 2" AND LARGER LINES

SHEET

1 OF 3




& X SO KWART JC N 5| BPRSCEA KK Cy P d
— . h
Fany s
NISOC :i;.:ﬁ.‘_g_)ﬂc.,.?oli:‘.ﬂl 53 jlf(‘.ﬂ);; 5, Slast :‘g'g%gg E
1olew 0 e PIPING ASSEMBLY DRAWING
053-073-9184 oax [N e oS b] s [ wz, [Smps] S | o 67 51 64 ramioo)ls
Bk | oecs |pepco | 120 Pl ow | ooo2 | poo
) (
( )
®
( | | )
) I I (
2” AND LARGER 2” AND LARGER
(VENT) (DRAIN)
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. GATE VALVE, THRD 3/4" 1 (DRAIN)
2. HEX. HEAD PLUG, THRD 3/4" 1
3. 100 mm, PIPE, TBE 3/4" 1 (DRAIN)
SPECS . AZ01 RATING: 150#
NOTE: DRAWING TITLE :

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP-0001)

HYDROSTATIC VENT & HYDROSTATIC DRAIN

FOR 2" AND LARGER LINES

SHEET

2 OF 3




& X SO KWART JC N 5| BPRSCEA KK Cy P d
— . h
ST e
NISOC :i;.:ﬁ.‘_g_)ﬂc.,.?oli:‘.ﬂl 53 jlf(‘.ﬂ);; 5, Slast :‘g'g%gg E
1olew 0 e PIPING ASSEMBLY DRAWING
053-073-9184 o555 |6, @mouSplo] Mg | @S, S ps| Jp | e 67 51 65 ramioo)ls
Bk | oecs |pepco | 120 Pl ow | ooo2 | poo
(
( ) )
( { )
) C L-—1"(0)
2” AND LARGER 2" AND LARGER
(VENT) (DRAIN)
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. GATE VALVE, SW 3/4" 2 (DRAIN)
2. SOCKOLET 3/4" 1
3. CAP, THRD 3/4" 1
4. 100 mm, PIPE, PBE 3/4" 2 (DRAIN)
5. 100 mm, PIPE, POE/TOE 3/4" 1
SPECS . FNO5 / FNO7 RATING: 600#
NOTE: DRAWING TITLE :

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP-0001)

FOR 2" AND LARGER LINES

SHEET

3 OF 3

HYDROSTATIC VENT & HYDROSTATIC DRAIN




‘ Kiw 55 oo g Ol s i lag o5

‘_;,,)WC.L..,

LR

S gyl poz ol 5 58 (S5 s, s

NISOC (‘ENERGY E
1olew 0 e PIPING ASSEMBLY DRAWING
! cdmio 0 5lod
053-073-9184 03z | &N dmorSpplo| Vs [ w3, |Syueps| Jup [ s 67 66 : o)lo
BK 6es | pepco | 120 PI pw | ooo2 | Doo
=
m ”
Z 2" FLARE WELD\ \ / §/
Y 2202020202090 \
D D
o [ HORIZONTAL PIPE 3
e -\ /
SPECS . ANO5 / ANO7 / CNO5 / CNO7 / CS000 RATING: 150# / 300#

NOTE:

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP-0001)

DRAWING TITLE :
CORROSION COUPON
&

CORROSION PROBE/TRANSMITTER

SHEET | 1 OF 1 |

(INSTALLATION IN 12°0 CLOCK)




&b
LR

TS I EWSRT NN 1 ICA KV Cip g e

‘_;,,)WC.L..,

S gyl poz ol 5 58 (S5 s, s

NISOC @
1olew 0 e PIPING ASSEMBLY DRAWING
! cdmio 0 5lod
053-073-9184 03z | &N dmorSpplo| Vs [ w3, |Syueps| Jup [ s 67 5167 o)lo
BK 6es | pepco | 120 PI pw | ooo2 | Doo
. \ \
P N HORIZONTAL PIPE N
o Ve N\
o | |
\ /
. 4 N
”
5 2" FLARE WELD
Z
SPECS : ANO04 / ANO5 / ANO7 / CNO5 / CNO7 / CS000 / FNO5 / FNO7 RATING: 150# / 300# / 600#

NOTE:

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP-0001)

DRAWING TITLE :
CORROSION COUPON
&

CORROSION PROBE/TRANSMITTER
(INSTALLATION IN 6’C CLOCK)

SHEET | 1 OF 1 |




	1
	2
	3
	4
	5
	6
	7
	8
	BK-GCS-PEDCO-120-PI-DW-0002-D00 Model (1)
	BK-GCS-PEDCO-120-PI-DW-0002-D00 Model (1)

	9
	10
	BK-GCS-PEDCO-120-PI-DW-0002-D00 Model (1)
	BK-GCS-PEDCO-120-PI-DW-0002-D00 Model (1)

	11
	12
	13
	BK-GCS-PEDCO-120-PI-DW-0002-D00 Model (1)
	BK-GCS-PEDCO-120-PI-DW-0002-D00 Model (1)

	14
	15
	16
	17
	18
	19
	20
	21
	22
	23
	24
	25
	26
	27
	28
	29
	30
	31
	32
	33
	34
	35
	36
	37
	38
	39
	40
	41
	42
	43
	44
	45
	46
	47
	48
	49
	50
	51
	52
	53
	54
	55
	56
	57
	58
	59
	60
	61
	62
	63
	64
	65
	66
	67

